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GEOMETRY

In triangle ABC, let AD, BE, and CF be medians from vertices A, B, and C,
respectively, intersecting in point P. If-I.B_IEJ = 9, then the length .I-;E is
Choose one of the following:

a)3

b)4

c) 4.5

d)6

e) cannot be determined from the information given.

Which of the following statements is false?

Choose one of the following:
a) n points may be collinear.
b) n points may be coplanar.
¢) Four points may be collinear.
d) Four points must be collinear.

e) Two points must be collinear.

A church steeple casts a shadow of 120 feet while a nearby vertical pole 10 feet high
casts a shadow of 8 feet. How high is the steeple?

Choose one of the following:

a) 96 feet

b) 136 feet

¢) 150 feet

d) 160 feet

e) 170 feet



o2 ]

The sum of the interior angles of a heptagon is
Choose one of the following:

a) 720°

b) 900°

c) 1080°

d) 1440°

e) 1160°

ABCDEFGH is a regular octagon with each side of length 2. Find m(m)
Choose one of the following:

a)2 + {2

b)2 4 242

c} 4
d)4 + 42
e) 4 4 242

The equation of the circle with center at {—3,4) and tangent to the y - axis would be
Choose one of the following:

a) (x=8)? + (y—4)? =9

b) (x+3)* + (y—4)” = 16

¢} (x=3)* + (y-+4)* = 16

d)(x+3)* 4+ (y—4)* =9

e) (x+3)* + (y+4)* = 16



GEOMETRY

In convex quadrilateral ABCD, the diagonals AC and BD are perpendicular, AC = 3,
and BD = 4. The area of the quadrilateral ABCD is

Choose one of the following:

a)3.5

b)6

c) 7

d)12

e) cannot be determined from the information given.

In the given figure, AC and AE are secants to the given circle. If AB = 20, AC = 28,
" and AE = 32, then AD = C

Choose one of the following:
a) 15

b} 17.5

¢) 20

d)22.5 E

e) cannot be determined from the information given.

_ > .

If A, B, C, and D are distinct points such that AC contains B and BD contains C,
which of these statements must be true?
Choose one of the following:
a) B is between A and C.

g d )
b) BC contains A.

—
¢) AC and BD intersect at B and C only,
- d) Eand EC do not intersect.

> L

e) AC is opposite to DB.
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A triangular prism has diagonals.

Choose one of the following:
a)6
b)3
c) 2
d)1
e) 0

If the measures of two angles of a triangle are (45 + x)? and (45 — x)?, what is the
measure of the third angle?

Choose one of the following:

a) 45°

b) 60°

c) 90°

d) 180°

e) 135°

The inverse of the statement "I (not A), then B”, is the statement
Choose one of the following:

a) If B, then A.

b)If B, then (not A).

¢) If (not B}, then A.

d}If A, then (not B).

e} If (not A), then (not B).
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GEOMETRY

The radius of the base of a regular cone is 3, and the height is 9. The lateral area is
Choose one of the [ollowing:

a) T

b) 9w

c) 9410

d) 18745

e) 9r 10

A median of a triangle divides the triangle into two triangles which are always
Choose one of the following:

a) similar

b) congruent

¢) equal in area

d) equal in perimeter

e) equal in height

Which of the following sets of points is convex?
Choose one of the following:

a) A line

b) A circle

¢) A sphere

d) A line with a single point removed

e} A set consisting of exactly two distinct points
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The area of a right triangle is six square units. If the length of one leg is 4, what is the
length of the altitude to the hypotenuse?
Choose one of the following:

a)g

Assume that a chord of a circle is parallel to a tangent of that circle and bisects the
radius that contains the point of tangency. If the measure of the chord is 12, find the
measure of the radius.

Choose one of the following:

a) 243

b)3

¢) 442

d) 443

e) 6
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GEOMETRY

Of the following descriptions of triangles, which allow for two different triangles to be
constructed?

Choose one of the following:

a)m(¥ at A) = 30°, AB = 2, m(Y at B) = 90"

b)m( at A) = 55°, AB = 5, AC = 3

¢) m(¥ at A) = 35°, AB = 6, BC = 4

d)m(Y at A) = 70°, m(J at B) = 60°, m(J at C) = 50°
3)33:5,-5623,2624

Two secants drawn to a circle from an external point P form an angle of 30°. The
larger intercepted arc is 80°, The smaller arc is

Choose one of the following:

a) 20°

b) 25°

c) 40°

d) 50°

e) 30°

——— a— oi—

T'wo chords, Eand CD, of a circle intersect at P. If:;; =2, BP = &, and CP = 4,
find PD.

Choose one of the following:

a)?2

b) 4

c) 6

d)8

e) 10



If the measure of chord AB of circle C is 8, and the radius is 5, find the shortest distance
from the center to the chord ./-53‘

Choose one of the following:

a) 2

b)3

c) 4

d4)6

e) 10

In the given figure, the radius of the circle is 5 and the length of the tangent from
external point P to the circle is 12. What is the shortest distance from P to the circle?
Choose one of the following: T

a)h

b) 245

c) 8 P

d) 10

e) 242

The hypotenuse of the right triangle ABC is 6 units in length, M is the midpoint of the
hypotenuse, MN = 2, and MN is perpendicular to BC. What is the length BC?
Choose one of the following: A

a) JT‘S
by V13
c) 4

d) 2413
e) 245 B
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GEOMETRY

Two polygons are similar, and the area of one is 9 times the area of the other. If a side
of the smaller polygon is 5, what is the corresponding side of the larger polygon?
Choose one of the following:

a) 945

b) 45

c) 15

d) 14

e) 345

The total surface area of a regular triangular pyramid all of whose edges are 6 is
Choose one of the following:

a) 184—3

b) 2743

¢) 3643

d) 4543

e) 2743 + 36

A square is inscribed in a circle whose radius is 4. Find the area of the square.

Choose one of the following:

a) 16
b) 32
c) 16427
d) 64

e) 3242
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If the line segment joining the midpoints of two sides of an equilateral triangle measures
12, find the measure of the perimeter of the triangle.

Choose one of the following:

a) 24

b} 36

c) 48

d)72

e) 144

Two tangents to a circle from a point outside the circle intercept an arc of 140°, How
many degrees are there in the angle formed by the two tangents?

Choose one of the following:

a) 40°

b) 50°

c) 55°

d) 70°

e) 30°

Describe what is represented by the equation x2 +y2 +22-6x+ 8y + 4z + 29 = 0.
Choose one of the following:

a) a point

b) a line

¢) a circle

d) a sphere

e) no points satisfy this equation

10
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GEOMETRY

In triangle ABC, AD and BE bisect angles A and B respectively and intersect in point
P. The measure of angle ACB is 70°. "The measure of angle APE is
Choose one of the following:

a) 50° £

b) 55°

c) 60°

d)67° A

e} Cannot be determined from the information given.

In the given diagram, the lengths of segments are as follows: AB =1,
-].3“5 = x, and XB =y. BI}is parallel to CE. Which segment has E
a length equal to the product xy?
Choose one of the following:

a) AE

b)BD

) AC

d)CE

e) DE

A 5 &

In the diagram in the preceding problem, suppose the lengths of the segments are as
follows: KE = x, -l;i"(']‘ =1, AD = y. Which segment has a length equal to the quotient
y 4+ x7

Choose one of the following:

a) AE

b) BDY

<) AC

4)CE

e) DE
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In the given figure, the area of circular sector OQAB is 20 and OD = DB. The area of
the circular sector OCD is

Choose one of the following:

a) b A

b} 7

¢} 10

d)3r C

e) Cannot be determined from the information given.

O D B

In the figure for the preceding problem, suppose arc length 6?) = 5. Then arc length
ﬁ would be

Choose one of the following:

a) 2

b} 7

c) 8

d) 10

e) Cannot be determined from the information given.

The locus of points equidistant from the vertices of a regular quadrangular prism is
Choose one of the following:

a) a point

b) a line

c) a plane

d) a sphere

e) a circle

12
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GEOMETRY

The inside dimensions of a closed box (rectangular parallelpiped) are 3, 4, and 5 feet,.

What is the length of the longest straight rod that could be placed in the box?

Choose one of the following:
a) 5 feet

b) {34 feet

c) y41 feet

d) {50 feet

e) 8 feet

— o & e

Given: AB ,ECJA.AB , DC.L AB,

Which of the following is NOT true:

Choose one of the following:
- L e

a) When I is in ED, FCL AR
—

b) Plane EDC L. AB

c) Plane DCB contains A

e} All of these.

- >
d) When G is not in plane EDC, GC 1. AB

: L o
£ not equal to D, and D not in EC

The center of a sphere inscribed in a tetrahedron is always

Choose one of the following:

a) equidistant from the vertices
b) equidistant from the faces

c) on all of the altitudes

dyall ofa, b, ¢

e) both a and ¢, but not b,
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In triangle ABC, AD and BE are altitudes meeting in point O. If X(-)- == 4, E = 6, and
BE = 11, then the length of BO is B

Choose one of the following:
a)4

b) 5 . p
c)6
d)7 [
e)8

A E <

In the given figure, the circles of radii r and s, respectively, are externally tangent and
the two common external tangents meet at P. What is the shortest distance from P to
the smaller circle?

Choose one of the following:

a)r + s
2rs P

b) ¥
c) 2rs

14
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